Day 6 Elimination Cont. 4th.notebook December 14, 2016

Solve the systems using what we learmed about the elimination method. Then graph to find the
solution to each system to check your answers. -LIY-I—qB"—
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Practice Together

Jerry has a collection of dimes and quariers worth $13.60. He has 4 more quariers than dimes.
How many dimes does he have?

How many different ways can you come up with to answer the problem?
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Practice/Closure Day 6

The cost of 4 T-shirts and 5 pair of jeans is $138. The cost oi 2 T-shirts and 6 pair oi
jeans is $132. Find the cost oi each.

How many different ways can you come up with to answer the problem?
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